10 cm.

10 cm.

6 mm.
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(Window-Wall Ratio, WWR)
100 % 3
00 % 80 % 100 %

(Window-Wall Ratio, WWR)
WAR
0 % 100 %

WAR
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3.5

1 sq.m.

0 %
0 % 20 % 40 %,

1:5
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' 1
o4l ,

g = UwxAwxTDeq + UfxAfxAT + AfxSCxSF

1 ] 1 1R
a = J[(I-WWR)xiwxTDe q + WWRxUfxAT + WWRxSCxSFjAo ..(4.1)
A= '
= A+ Af
' qu qsi un q\N1

Q = qxergs +qE +qu (4.2)
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1:5 124 113 |12 1o 21 31 4:) 5:1
wUswigy WwR fiasdy wsRauw WWR fiaz 2 ﬁﬂu"ﬂaag'maﬁwﬁu
N-S-E-W NE — SW — SE — NW

>

4.1



Q = gN E+gqs +gs E+qgN

qsE N

7.00

7.00 . 18.00

(4.1) (4.3)

18.00

3.6

30ac

60



= 2.72 [m2-°C
a6
= 533  [iR--c
= 3.24 wim2-°c
lRY
X y
N
,’ X }
‘L y:
4.2

30 'C

25 °C
(

(Uf)

(SC) = 0.66

3.5 1In

X1y
4.2

\QW
S //\\ //NE



3.8

Q

SF

. TDeq 3.5

(4.1) (4.3)

(171.36R1"2 + 190.4/R1 2 + 3.17 AWWRnR1/?2
+4.2TTWWRSRI /* + 3.862WWRe /R 172
+ 4 37TWWRW/RL/ 2 )AL/ 2 (4

0~ W A 100 , R >0

Q

(180.88R1 2 + 180.88/R1 2 + 3.333WWRNERL 2
+ 4.555WWRSVVRL 2 + 4. IIEWWRs E/R1/2
+ 3 .633WWRn [R1/2)AL/2 _(4.5)

0~ WAR N 100 , R >0

Q

A =1 sq.m. (4.4) (4.5)

(171.36R112 + 190.4/R172 + 3.174WWRnR1/?2
+ 4 2TTWWRsR1/2 + 3.862WWRe/R1 2
+ 4.3TWWRW/R! /2)
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Q = (190.4+3.862WWRe+4.37WWRw)/R1"2

+ (171.36+3 . 17AWMARn -4 . 2TTWWRs )R1/2 ... (4.5)
0 « WAR ~ 100, R >0

Q = (180.88R1-2 + 180.38/R1/2 + 3.333WWRnerl 2
+ 4. 55 5WWRswR1/2 + 4. 116WWRse/R1/2
t 3.633WWRn /R1:2)

0 = (180.38+4 .116WWRse +3.633WWRnw//R112
+ (180.88+3.3 33WWRne + 4 .555WWRs )R1'2 .(4.7)
0 : WWR 4 100, R >0

(4.5) (4.7) ‘o !
|
qgr = U X A X TDeq o (4.8)
qr = 1 Watts.
TDe q T 10 cm. =7 ‘¢
!
1 sg.m. | F 1 1



(WWR), ,
1 sg.m.
1 (WWR)
1:1
1 sg.m.
X y 1 m. WAR
200 % 0 % 100 %
3 WR 0 % 20 % 40%, 60 % 80 9%,
100 % WAR \WAR
3 (
)
4.3
4.3
WWRn (AQ/AWWRn ) 1 m.
d
\WAR 3 ( ,
) 20 % ' WR

3 0 %
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Q (Watts)
i 18
i 5
;,/ o B ;C//JL&
— . e L G— @
5/7 > 03
1000 N =
il o
0 N o & @ o "WME
VWARN WAR3T WAR ~ WWRW 0%6
wwrn VWARS Twwrf , WARW 0%
» OWR 3 IWWRr IWWRw 40%
WAR WARS TWAR: 1VWARw 60 %
C\WR WARS 1WAR: IWARW 80%
) I WARh WARS TWARE TWARW 106
‘) 43 a WARha Q 1A WR
3 (WAR3 IWAR  IWIARW) $ 0%,

20% , 40% » 60 %, 80%

(

100%

)



Q (Watts)

750

|
|
|
|

-

\
i

!

A8
A8
7S A8
_,; :;j,'//// > ’/; 3
7, A D
/50
o
60 50 100
WWR (%)
WR™ VWS IWR  WARN 62%6)
1 1 VVNRNE VWYY VWRE VWNRNW 0
1 ) VWYRwW VWRe WHRAIVWNRe 02%6)
] W WWRn IVWR 1 VWNRNY 0%
] WWRA wwrner WAR . WWRNw M 0%
] ) VWS VINRN I VWEE. | VWNRWY 0%
1 1 W®RNV " WWRn IwwRs 1wwRe 0%
] wevaN  wwrne IWWRse- WWRnw - * 0%
44 a » WWR
( ! =18 1)
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AQ/AWWRn = 3.174
(
,d, 4.1 AQ/A WIR
4.1 AQ/AWWR
) AQ/AWWRn
4.1 AQ/AWWR
NE SE NW

Orientation N

Q/AWWR 3.174 4.277 3.862 4.37 3.333 4.555 4.116 3.633
4.1 A Q/AWWR
A Q/AWWRn
Orientation N E NE SW SE NW
AO/AWWR 1.000 1.348 1.217 1.377 1.05 1.435 1.297 1.145
AQ/AWWRn
4.4 WAR
4.1 4.4 A Q/AWWRn
AQ/AWWRne AQ/AWWRnw , 3.1744,  3.333
3.633 1, 1.05, 1.145 AQ/AWWRnR
A Q/AWWRse , AQ/AWWRs , AQ/AWWRw , AQ/A WWRsw
4.116, 4.277, 4.37, 4.555 1.297,
1.348, 1.377, 1.435 AQ/AWWRnR

) AQ/AWWRe
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3.862 1.217 AQ/AWARN AQ/AWWRn
AQAWWRsW

WAR 4
WAR 4
WAR
WAR N WAR
100 % E, IR 0 %
WAR 3 ;o WAR
4 WAR N,
100 % WAR 0 %
WAR

WAR N R 100 % E,



69

, WAR 0 %
WAR 4
4.5
WAR 4 0 %
4.5
WR1 4 100 %
WAR = 0 % IR/ 1:1
361.76
NE-SW-SE-NW N-S-E-W
361.26 rR = 1.1:1
R = 1:1
WAWR = 0 %
E-
N-S, NE-SW SE-NW N -
NE-SW SE-NW [
N-S-E-W |

3Q/9R 95.2R"3 2 + 35.68R-1/2 e (4.8)



Q (Watts )( Q/Qp_,.
‘ WWR « 0%
|
700 + [
| |
| |
-SOOT
5001 A~ , 1
400+ SRl W 1-
| T
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N 187 Y4/ /302 AR 3 4700 5?1 ﬁﬂﬁWE)"IR"I‘i
» M (51 ARRY P
4NE 'A\) YK N\ A \/\\\
\< 7 (" _/) ‘\,\\.‘
N/ \, \\>
OmA » WWR 0% N-S-E-W
0 0 » WWR . 0% NE-SW-SE-NW
! 4. » ! » » WWR
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Q(Watts ) & Q’%\x:/\}?( |
=0%

B0+ Lo
Y /3, "
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‘\-\ . ’,5// 4 -
A% 53
>
. 1_5 \'A _1_3 1:2 —1.1— 2:1 il_4:1i )
A > TISSEEED o~ O\
VG SN\
(- » s WWR 100% N-S-E-W
0------0 £ WWR 100% NE-SW-SE-NW
il 4.5 « fi. WWR
100%



5.3

100

N 72

N, %
‘("‘\-/gg’
g

NE-SW-SE-NW
9Q/9R = -90.44R-3/2 + 90.44R-1/2 4.9)
WAR
N-S
4.2
= 1:5 WR ' 0 %
% WR
i WAR =0 %
WWR=100 % R
WAR = 100 %
N-S-E-W
3Q/9R = -506.8R"3/2 + 458.23R-1'2 e (4.10)
NE-SW-SE-NW
0 i = -477.80R-3/2 + 484.84R-1/2  (4.11)
WAR = 100 %

WAR =0 %
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WAR ‘
ml \WAR \WAR
! N-S-E-W N,
WAR = 100 % E, WAR = 0 %
(R = 1:1) - (R =11
5:1) 1
N ,
N-S R = 1:1  5:1)
R=15 5:1
2= SN 1:2
1:2 5:1
4.2
== ,
Y AN
"""""" 1 \\\/) \\/
Q()
WWR = 0 % 468.3221 502.3819 485.352 485.352
WWR = 100 % 2502.643 2676.198 2595.619 2570.826
/ R=1:1, WR=0 %
WR = 0 % 1.29 1.39 1.34 1.34
WAR = 100 % 6.92 7.4 7.17 7.11
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=

3Q/2R = -95.2R*3/2 + 458.23R-1'2 .. (4.12)
E, i WAR = 100 % N, 3
WR =0 % ' R=1:5
5:1 R=1:5 2:1
R=2:1 5:1
9Q/9R = -506.3R"3/2 + 35.58R-1"2 (4.13)
NE-SW-SE-NW
NE, WAR - 100 o SE.NW WAR - o %
SE.NW - WWR = 100 % NE, WWR = o %
NE, WAR = 100 % SE NW
0 %
20/"R = -90.44R-3/2 + 484.84R"1/2 (4.14)
SE,NW - WWR = 100 % NE,
=0 %
9Q/9R = -477.89R-3/2 + 90.44R-1'2 (4.15)
4.6
WR ' WAR = 100 %

WWR = 0 %
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WAR WIR
WAR ,
N-S-E-W N, WAR = 80 % E, WAR = 20 % “
=11 5l R=-11
EW (R )
N, WAR = 100 %
E, WR =0 % rR=11 15
R =1:1 4 N-S
R m1:2 (R = 1:3
1:5)
N, WWR=100 % E, WWR=0 % 1
9Q9R = -177.52R"3/2 + 383.72R-1'2 __ (4.16)
, WAR - 80 N, WAR
= 20 % ‘ r = 15 2:1
' 3:1 hetl
9Q/9R = -424R-3/2 + 160.19R-1'2 (411
‘ NE-SW-SE-NW
NE, WAR = 80 % SE, NW

WR 20 %



0Q/9R

WR =20 %

3QISR
47

WAR = 20 %

WAR = 40 %

E WAR = 100 %

1

167.93R-3'2 + 405.36R-12 _ (4.18)
SE,. W WAR =80 % NE,
400.4R"3/2 + 169.32R-1'2  (4.19)
WAR
WAR = 80 %
4.1
NE-SW, SE-NW N-
N-
1:1.5 WVR= 50 %
SE-NW
WAR 3 WAR
4 WAR
N-S-E-W N,

%
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E-W (R = 1:1 5:1)
N-SRr = 1:1
z R=1:2 15
QassR = -288.3R“3/2 + 458.23R-1"2
N WAR =0 % ,
100 % R=1:5 1:1
(R = 1:1)
R=2:1
5:1 #
9Q/2R = -506.3R-3/2 + 299.53R-1/2
WAR = 100 %
WWR =0 %
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3Q/9R
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9

1:5)
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__(4.21)

E
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0Q/0R
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1 9Q/9R
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1 90/3R

4.8

100 %

N, E, WAR = 100 %

-506.3R-3/2 + 244.38R'1/2

NE, , SE WWR = 100 %

-296.24R"3,2 + 484.84R-1'2

NE, , N\W  WAR = 100 %

-272.09R-3/2 + 484.84R-1'2

, NW, SE R =100 %

-477.89R"3'2 + 318.19R-"2

NE, SE, \W  WAR = 100 %

~anr .89R-3/2 + 257.09R-1/2

WAR =0 %

_ (4.23)

(4.24)

SE

L (4.25)

NE

(4.26)

L(4.27)
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WWRn IWWRe IWWRw 100%
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WWRne I1WWRse WWRnw 100%
WWRne IWWRsw IWWRnw 100%
WWRne IWWRsw.IWWR 100%
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‘5 amt; N-S-E-W

E WWR = 30 % WR = 0 %
N, , E WWR = 100 % WR = 0 %
WWR = 80 %
WAR = 100 % (WWR = 80 %)
9Q/9R = -249.68R-3/2 + 383.72R-1'2 _(4.28)
{
8
4.3
4.3 WR =0 %
; 1:2 1:5
WR =0 % N
WR =10 %"
WWR =0 % N
WR =0 % WWR =0 % NW
. WAR
WAR

{ N-S-E-W N



WWR = 100 % E, WWR = 0 9
EW (R = 1:1 5:1)

N R = 1:1
1:3 (R = 1:3 1:5)
3Q/9R = -95.2R“3/2 + 244.38R"1/2 _(4.29)
R =100 %
' R = 1:5 3:1 1 R = 3:1
5:1
2Q/9R = -313.7R-3/2 + 85.68R-1/2 _(4.30)
‘ WAR = 100 %
WAR = 100 % ° | NE
WAR = 100 % N
WAR = 100 % SE, E N
WAR = 100 % ‘ 4.9
WAR = 100 %
9Q/2R = -95.2R*3/2 + 299.53R-1/2 _(4.31)

E WAR =100 %
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SQ/'SR

9Q/9R

0Q/QK

Q/9R

eqscR

WAR = 80 %

1:5

W0'R

-288.3R-3/2 + 35.68R-1'2

MAR = 100 %

-90.44R-3/2 + 318.19R-1'2

NE  WAR = 100 %

-90.44R"3/2 + 257.09R-1/2

SE WAR = 100 %

-296.24R-3/2 + 90.44R-W2

N WAR = 100 %

~212.09R-3/2 + 90.44R"1/2

WAR

h:1
Wi = 100 %
WAR = 80 %

-95.2R-3/2 + 212.64R-1/2

3

_(4.32)

(4.33)

(4.34)

(4.35)

(4.36)

v R = 100 %

WAR = 80 %

R= 12

_(4.37)
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R = 100 %
WAR = 100 % N
WAR 4
WR =0 %
4.10
WR 4 N
N, WAR = 100 %

WAR = 100 % 4

(4.4)
Q

Q =

4.3

WAR = 100 %
N, . BE WA =100 %
4.11

(4.5)

(171.36R1/2 + 190.4/R1:2 + 3.174WWRnr1/2

¢ 4 2TTWWRs JRL/2 + 3.862WWRE/RL/2
4 3TWWRwR. 2) AL2
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4.3 L)
WAR
/
WAR
% ]
WAR = 0 %4 1
WAR = 100 % 0%3 1.88-2.26
WAR = 100 % 2 C0%2 3.06-3.28
WAR = 100 % 3 0%l 4.06-4.46
WAR = 100 % 4 5.3
o (180 e 2 + 180,38/R1/2 + 3.3WMARN
+ 4555WWRswR1/2 + 4. ilOWWRsSE/R1/2
+ 3.633WWRnw/R1x2) Al 2
[ 0 « WAR « 100, R >0
Q R, R
A,
Q = f(WWR, R, A ..(4.38)
WAR R (
(4.4) (4.5))
Q = kA1 2 _(4.39)
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